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QUESTION 1 (75 Marks)

Section A

5 sentences @ 15 marks each.

Penalty system applies as follows:
Major error = - 3. i.e. omission of verb, wrong construction or mood; but only one
block penalty to be applied per construction.
Lesser error = - 2. i.e. wrong tense, voice, number, case, omission of noun, adjective,
pronoun, ut, ne, se, etc.
Minor error = - 1 i.e. wrong gender, degree of adjective or adverb, misspelling or
vocabulary error.

Section B

Comprehension.

(i) iuvenes = Tarquin’s sons 2 marks
patris = Tarquin 2 marks

(ii) They wanted to find out who would get the throne 6 marks

(iii) Where from = innermost cave 3 marks
what said = the man who will first kiss his mother will have power 6 marks

(iv) Names = Arruns, Titus, Sextus 2+2+2 marks
Did not get on well (wanted to keep it quiet) 3 marks

(v) To draw lots (4 marks), to decide who would kiss his mother first (4 marks);
but if only one point made (6 marks)

(vi) Brutus 4 marks
Threw himself on the ground and kissed the earth 7 marks

(vii) Earth is the mother of all living creatures 6 marks

(viii) He was expelled 6 marks

(ix) First consul 6 marks
Highest power in Rome 2 marks
Marks 6 and 2 will be given in either order i.e. 6 marks will be awarded first.

(x) Tell story in own words Impression ex 8 marks



QUESTION 2  (130 Marks)

Translation of two unseen texts, one from Section A and one from Section B, @
65 marks each.

Section A

(i)

In ………………… animalium 4
Primum ……………existit 8
Sunt ……………….alces 4
Harum ……………..capris 3
Tertium …………….appelantur 5
Hi …………………..tauri 9
Magna ……………..velocitas 6
Homines …………. .accipiunt 12
Amplitudo …………differt 6
Germani ……………utuntur 8

(ii)

Dum ………………oppugnabatur 7
Hannibal …………aggressus est 8
vineas ……………posset 5
Primo …………….hostem 4
deinde ……………habebant 6
Sed ……………….cadebant 8
Ubi ……………….desererentur 17
Obsidio …………..cuabatur 10

Section B

(i)

nil …………………ullo 7
magna ……………..aves 8
res …………………placet 3
alter ………………..Palati 5
alter ……………….init 7
sex …………………ordine 8
pacto ……………….habet 7
apta ………………  aratro 8
augurio …………….cives 6
et …………………..erat 6



(ii)

postquam ……………..sereno 8
dat ……………………signum 6
nos ……………………alas 10
iamque ………………..fugatis 6
cum …………………..Italiam 10
Italiam …………………salutant 10
tum …………………..induit 9
implevitque …………..vocavit 6

QUESTION 3 Prescribed text (90 marks)

A (i) (60 Marks)

Capuam ……………..acceptae 4
Ibi ……………..animadversum 5
Ita ……………….condidti 7
alii ………………interierunt 6
multitudo ………….data 4
De ………………..inimicam 10
Ceterum …………..vicit 3
nam ……………….sedes 10
Urbi ……………….retenta 7
ager ……………….facta 4

A (ii) (30 Marks)

(a) 5 + 5

(b) 5 + 5

(c) Impression ex 10

(d) 5+5

(e) (3 + 2) + (3 + 2)

B (i) (60 Marks)

fit ………………. gemitus 2
tum ………………reponunt 4
purpureas …………coniiciunt 6
pars ……………….feretro 3
triste ………………ministrum 2
et ………………….facem 5
congesta …………..olivo 8



postquam ……………quievit 5
reliquias ……………aeno 10
idem …………………unda 5
spargens …………….verba 10

B (ii) (30 Marks)

(a) 5 + 5

(b) Impression ex 10

(c) (3 + 2) + (3 + 2)

(d) Impression ex 10

(e) Two writings (2 + 2); account of life (2 + 2 + 2)

QUESTION 4 (30 Marks)

(i) 4 @ 2 marks each
(ii) (2+1+1),(2+1+1),(2+1 +1)
(iii) Each correct foot merits 2 marks (max. 10 marks)

QUESTION 5 (75 Marks)

Three question @ 25 marks each.  One from Section A, one from Section B, and one
from either A or B.

Section A

(i) Actium: two points (5 + 4) on the battle and 4 marks for its importance to
Augustus.
Teutoberg Forest: Two points (5+4) or (4+4); 4 marks for importance to
Augustus.

(ii) Nero: Three points (9+8+8)

(iii) Two questions ex four: (7+6) + (6+6)

Section B

(i) (7+6) + (6+6)

(ii) Note on mosaics (9+8); name (4); description (4)

(iv) Two questions ex four: (7+6) + (6+6)


